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Q.1 Multiple Choice Questions 2
Which of the following equation has 2 as a root?
a.x?-4x+5=0 b.x?+3x-12=0
C.2x2-7x+6=0 d.3x?-6x-2=0
The root of the quadratic equation x2 - 3x - 4 = 0 are.
a.-4,1 b.4,-1 c.4,1 d-4,-1
Q.2 Attempt the following (Activity) 2

Q.3

Q.4

Q.5

Q.6

If one root of the quadratic equation 5m? + 2m + k = 0 is %7 then find the value of k by completing the

following activity.

%7 is the root of equation 5m?+2m+k=0 %

-7 is satisfies the given equation.

5 V
Substituting m = %7 in given equation. \;
S 6X +2 X +k=0

+ +k=0 O

7+k=0

Answer the following (Any One) &0 2

Solve : 7y =-3y?- 4

From the quadratic equation form s given below.

Lo}

Answer the following al) 8
Solve the followin \ equations: 12 (X2+$) - 56 (x+%) +89=0.

Solve the following quadratic equations: (y2 - 6y)? - 4(y2 - 6y + 3) - 20 = 0.

Answer the following 3

If 460 is divided by a natural number then quotient is 6 more than 5 times the divisor and remainder is 1
then find quotient and divisor.

Creative questions 3

Construct a word problem on quadratic equation (age related problem) so that one answer will be 12.
Solve the problem you have constructed.

YOUR FILGHT , OUR WINGS.
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